Replacement Parts Diagram

Nominal Diameter: 10 Inch (254mm)

PN: 3300-10E3

Connection: 1-3/8 Inch (35mm) Hexagon
For Use With: 330H, 332H Hole Digger & 660 DIG-R-MOBILE ©

AWARNING

+ KEEP BODY PARTS, LOOSE CLOTHING AND «
FOREIGN OBJECTS CLEAR OF ROTATING N
' AUGER. THIS AUGER IS NOT DESIGNED TO
" BE UTILIZED AS AN ANCHORING DEVICE '
+ THIS POWERHEAD IS NOT DESIGNED TO '
.+ DRIVE EARTH ANCHORING DEVICES.
33333333

=[] SCAN THIS QR CODE
; TO REFERENCE ALL
A REPLACEMENT

L e
.= '!!.«E!' PARTS PERTAINING
'EI [-EE TO THIS AUGER

3300-10E3-5010

Due to the supply chain issues created
from the covid 19 pandemic the
products shown in this document may
differ visually then that depicted on our
website and catalog. The products
illustrated have been designed to meet
or exceed the specifications of the
products they are substituting for.

sbeneral

EQUIPMENT COMPANY



Replacement Parts Diagram

PN: 3300-10E3

Nominal Diameter: 10 Inch (254mm)
Connection: 1-3/8 Inch (35mm) Hexagon
For Use With: 330H, 332H Hole Digger & 660 DIG-R-MOBILE ©

Rﬁfﬁ;irge Part Number Description Quantity
1 SB25PAK3 Pak3, Bit, Screw, Auger 1
2 E310PAK3 Pak3, Blade, Earth, 10D 1
3 233-5093 Decal, Caution, Clear Rotating 1
4 3300-10E3-5010 Decal, Information, Auger 1
5 15051200 HHCS, 5/16-18 X 1-1/2, ZY 1
6 52050000 Nut, Lock, 2-Way, 5/16-18, ZY 1
7 15040600 HHCS, 1/4-20 X 3/4, ZY 3
8 52040000 Nut, Lock, 2-Way, 1/4-20, ZY 3
9 2121PAK3 Pak3, Pin, Auger, .375D 1

sbeneral

EQUIPMENT COMPANY



Replacement Parts Diagram
PN: 3300-12E3
Nominal Diameter: 12 Inch (305mm)
Connection: 1-3/8 Inch (35mm) Hexagon
For Use With: 330H, 332H Hole Digger & 660 DIG-R-MOBILE ©

. KEEP BODY PARTS, LOOSE CLOTHINGAND
FOREIGN OBJECTS CLEAR OF ROTATING N /
' AUGER. THIS AUGER IS NOT DESIGNED TO
' BE UTILIZED AS AN ANCHORING DEVICE '
+ THIS POWERHEAD IS NOT DESIGNED TO ‘
+ DRIVE EARTH ANCHORING DEVICES.
33333333

'E SCAN THIS QR CODE |
5 TO REFERENCEALL |

' .é_: =0 REPLACEMENT

Due to the supply chain issues created
from the covid 19 pandemic the
products shown in this document may
differ visually then that depicted on our
website and catalog. The products
illustrated have been designed to meet
or exceed the specifications of the
products they are substituting for.

sbeneral

EQUIPMENT COMPANY



Replacement Parts Diagram

PN: 3300-12E3

Nominal Diameter: 12 Inch (305mm)
Connection: 1-3/8 Inch (35mm) Hexagon
For Use With: 330H, 332H Hole Digger & 660 DIG-R-MOBILE ©

RNeL?r:ebneie Part Number Description Quantity
1 SB25PAK3 Pak3, Bit, Screw, Auger 1
2 E512PAK3 Pak3, Blade, Earth, 12D 1
3 233-5093 Decal, Caution, Clear Rotating 1
4 3300-12E3-5010 Decal, Information, Auger 1
5 15040600 HHCS, 1/4-20 X 3/4, ZzY 3
6 52040000 Nut, Lock, 2-Way, 1/4-20, ZY 3
7 15051200 HHCS, 5/16-18 X 1-1/2, ZY 1
8 52050000 Nut, Lock, 2-Way, 5/16-18, ZY 1
9 2121PAK3 Pak3, Pin, Auger, .375D 1

sbeneral

EQUIPMENT COMPANY



	3300-10E3 PG1
	3300 Series Auger Parts.pdf
	3300-10E3 PG2
	3300-12E3 PG1
	3300-12E3 PG2


